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Sual: Find the missing word Considerable effort must be first expended to determine what ________ 
could be achieved. (Çəki: 1)

task
goals 
target 
exercise 
attain

Sual: Find the missing word: Experience teaches that it would not be possible to ________ inflation 
entierly. (Çəki: 1)

eliminate
maintain 
attain 
task
target



Sual: Complete the sentence: the work is interensting and gives you positive feiiings. (Çəki: 1)
stimulating 
dull 
boring
uninteresting
unstimulating

Sual: Complete the sentence : The work is not interesting. (Çəki: 1)
satisfiying 
boring 
stimulating 
fascinanting
exciting

Sual: Complete the sentence : the work involves doing the same things again and again (Çəki: 1)
tiring 
tough 
repetitive 
hard 
demanding

Sual: Complete the sentence : The work is difficult and makes you tired (Çəki: 1)
dull 
stimulating 
exciting 
tiring 
uninteresting

Sual: Match the word combination to its definition: Measures taken to prevent discrimination (Çəki: 
1)

code of ethics 
affirmative action program 
issues 
breach 
timeframe

Sual: Match the word combination to its definition: A written set of rules of behaivor (Çəki: 1)
child labor 
code of ethics 
breach 
ethical investing 
times cale

Sual: Find the missing word: Macroeconomistts explein how the magnitudes of principal 
macroeconomc ________ are determined. (Çəki: 1)

changes 
aggregates 
variables 
salary 



stimulating

Sual: Find the missing word: An overambitions employment target would produce labor shortage 
and ________ inflation (Çəki: 1)

pay 
salary 
wage 
changes 
timescale

Sual: Find the missing word: Many countires do research to _______ ways of reducing air and water 
pollution. (Çəki: 1)

develop 
protest 
steps
overlap
pay

Sual: Microeconomist is interested in the determination of ____prices. (Çəki: 1)
general 
total 
value
payroll 
individual

Sual: Find the missing word: MAcroeconomist is interested in the price level and its change over 
time . (Çəki: 1)

general
total 
individual 
relative 
payroll

Sual: Match the word to its definition: A piece of planned work which is finished over a period of time 
and intended to achive a particular aim. (Çəki: 1)

webcam 
public telephone 
helpline 
project 
 cost

Sual: Match the word to its definition: The second stage starts before the firs finishes. (Çəki: 1)
simultaneous 
run parallet 
 landline 
overlap
goods

Sual: Match the word to its definition: A jorney in a plane (Çəki: 1)



flight 
voyage 
crossing 
drive
ride

Sual: Match the word to its definition: A long jorney in a plane (Çəki: 1)
crossing 
voyage
flight
drive
ride

Sual: Match the word to its definition: A short jorney in a boat or ship which goes from one side of a 
sea. (Çəki: 1)

flight 
voyage 
crossing 
drive
ride

Sual: Match the word to its definition: A jorney in a car (Çəki: 1)
crossing 
voyage
tour 
drive
ride

Sual: Match the word to its definition: A short journey in a vehicle such as a car (Çəki: 1)
crossing 
voyage
crossing 
 drive 
ride

Sual: Match the word to its definition: A planned journey during which a fixed period of time . (Çəki: 
1)

crossing
voyage 
tour 
drive 
ride

Sual: Choose the synonym to the underlined word: If investors don't approve of a company's 
activites ,they may sell their stake in it (Çəki: 1)

holding
real estate 
company 
attain 
maintain 



Sual: Choose the synonym to the underlined word: Some professions have a code of conduct -rules 
that control the way they behave . (Çəki: 1)

human rights 
on sehedule 
a code of ethies 
holding 
voyage 

Sual: Choose the synonym to the underlined word: We drew up a three-year time-frame for the work 
to be completed. (Çəki: 1)

make up time 
timescale 
on schedule 
holding 
attain 

Sual: Choose the synonym to the underlined word: The employees use a diary to plan their week. 
(Çəki: 1)

calendar
timeframe 
priority 
real estate 
timescale

Sual: Choose the synonym to the underlined word: Rebalancing often means a reuction in income 
(Çəki: 1)

changes 
downshifting
salary 
stimulating
 totals

Sual: Choose the synonym to the underlined word: There are a lot of bank and public holidays in 
USA (Çəki: 1)

working hours 
entertaing
vacation
lead time 
delay

Sual: Choose the synonym to the underlined word: The stages of "finish site" and "recruit 
employees" run in parallel (Çəki: 1)

overlap
steps 
protest 
contribute
simultaneous



Sual: Choose the synonym to the underlined word: More recent expreience suggests that reduction 
of unemployment of 5.5 % of labor force is about as well as we can do. (Çəki: 1)

value 
work force 
payroll
total 
market

Sual: Choose the synonym to the underlined word: Economic rivalry is another essential feature of 
free enterprise economy . (Çəki: 1)

competition
enterprise 
market
stage 
pocket 

Sual: What is equal the best fineness of 999,9 equal? (Çəki: 1)
to 24 carat 
to 14 carat 
to 18 carat 
to 20 carat 
to 28 carat

Sual: When was the huge rise in oil prices? (Çəki: 1)
in 1973 
in 1971 
in 1960 
in 1965 
in 1979 
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Sual: Choose the synonym to the underlined word:Manufactures buy and sell to market their goods . 
(Çəki: 1)

merchandise
computers
services
cost
profit

Sual: Choose the synonym to the underlined word:Payphone operates with coins or a phone cards . 
(Çəki: 1)



webcam
helpline
credits 
public phone 
capital

Sual: Choose the synonym to the underlined word:You can carry a mobile phone with you and use 
anywhere. (Çəki: 1)

landline 
voice message 
cellphone
phone
move 

Sual: Choose the synonym to the underlined word.You can find out about a company`s products and 
services from information line. (Çəki: 1)

booking
videoconferencing 
helpline
merchandise
resources

Sual: Choose the synonym to the underlined word. I rang them up 5 minutes ago but there was no 
answer (Çəki: 1)

called up 
arrive
connect
rat race 
gain

Sual: Choose the synonym to the underlined word. With the help of reservations line you can make 
bookings for travels and hotels. (Çəki: 1)

voicemail
booking 
.hotline 
owners
achieve

Sual: Choose the synonym to the underlined word. Producers do not have to pay for the services of 
intermediaries (Çəki: 1)

middlemen 
retailer
vendor
breakdown
downshifting

Sual: Choose the synonym to the underlined word. It is also the usual channel for perishable 
products, such as fruits, vegetables,etc. (Çəki: 1)

consumer durables 
goods 



fast moving consumer goods 
creditor 
consumer

Sual: Choose the synonym to the underlined word. Could you put me through to the manager? 
(Çəki: 1)

hald on 
connect
listen
investor
charisma

Sual: Choose the synonym to the underlined word. Some languages have many forms of address 
that you use to indicate how familiar you are with someone. (Çəki: 1)

acquainted
unfamiliar
believe
values 
user

Sual: Choose the synonym to the underlined word. The times or dates when things in a plan should 
happen are its schedule. (Çəki: 1)

project
overlap
timetable
visionary
distand

Sual: Choose the synonym to the underlined word. The next stage was fitting out the supermarket 
but there was a series of strikes by the electricians. (Çəki: 1)

parallel
delay
phase
managers
supplier 

Sual: Choose the synonym to the underlined word. Nowadays managers are more accessible easy 
to talk to. (Çəki: 1)

approachable
[distant
visionary
rules 
remote

Sual: Choose the synonym to the underlined word. Before leaders were distant-not easy to 
communicate with. (Çəki: 1)

approachable
decision-making 
remote
rules



machines

Sual: Choose the synonym to the underlined word. Avoid any kind of interruptions which stop you 
doing what you had planned. (Çəki: 1)

distraction
diary
time tips 
leaders
subordinates

Sual: Choose the synonym to the underlined word.It took 2 months instead of 3,but we were still 
behind schedule. (Çəki: 1)

timetable
on schedule 
ahead of schedule 
time tips 
footprint

Sual: Complete the sentences: ............. means tourist travel between two or more countries. (Çəki: 
1)

international tourism 
resort
excursion 
convention
tourist

Sual: Complete the sentences: .......... is a place where people gather for recreational purposes. 
(Çəki: 1)

.tourist 
resort
trip
hotel
inns

Sual: Complete the sentences: ........ is a trip away from a person`s usual place of residence for less 
than 24 hours, although weekend trips are often classified as excursions. (Çəki: 1)

excursion
excursion
destination 
resident
recriational 

Sual: Complete the sentences: ............ are places at which travellers can obtain a bed and food 
while on a trip, in other words, hotels,motels,inss and so forth. (Çəki: 1)

grounds
excursion
accommodations 
convention
primarily



Sual: . Complete the sentences: .......... is a meeting at which people usually within the same field or 
business exchange their ideas,experiences and so on. (Çəki: 1)

rapid
recreation
resort
convention 
excursion

Sual: Complete the sentences: .......... are people who cross the borders for various reasons. (Çəki: 
1)

passangers
migrants
commuters
visitors
hikers

Sual: Complete the sentences: ............ cease to be tourists if their purpose is not leisure or 
recreation (Çəki: 1)

outbound
travellers 
inbound tourism 
passangers
domestic tourism

Sual: Complete the sentences: ......... tourism means the same as internal tourism. (Çəki: 1)
passangers
inbound tourism 
.nomad 
domestic tourism 
itinerant

Sual: Complete the sentences: .......... tourism involves the residents of a particular country going 
abroad. (Çəki: 1)

domestic tourism 
travellers 
passangers
inbound tourism 
holidaymaker

Sual: Complete the sentences: ......... means that people who live in another country come to visit 
the country where you live. (Çəki: 1)

outbound tourism 
globetrotter 
itinerant
commuter 
hiker

Sual: . Find the missing word: In the 1920s production began to _______ up with demand. (Çəki: 1)
achieve



catch 
.gain 
.connect 
hotline

Sual: Find the missing word: Marketers realized that the best approach had to first determine 
what______ need and then develop goods and services. (Çəki: 1)

creditors 
customers
owners
voicemail 
arrive

Sual: Find the missing word: Grading classifies products by______and quality usually through a 
storing process. (Çəki: 1)

height 
weight 
investor 
size 
vendor

Sual: Find the missing word: Producers sell directly to______ for several reasons. (Çəki: 1)
.dealer 
creditor 
consumer 
customer 
values

Sual: When did developing countries begin to borrow large sums of money from Western banks? 
(Çəki: 1)

in 1960’s 
in 1971’s 
in 1965’s 
in 1973’s 
in 1979’s 

Sual: Choose the right: Nobody was hurt in the accident, but the damage to the car was quite… 
(Çəki: 1)

Good 
Important 
Trouble 
Usual 
Bad
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Sual: Find the missing word: A retailer is a______ that buys from producer and sells to consumer. 
(Çəki: 1)

user 
middleman 
investor
charisma
dynamism

Sual: Find the missing word: Low power distance______ is the situation when managers are easy to 
talk to. (Çəki: 1)

values 
beliefs
culture
believe
leadership

Sual: Find the missing word: Power-distance is the distance between_____ and employees. (Çəki: 
1)

producer 
managers
supplier 
distant
phase

Sual: Find the missing word: Gases produced by industry,transport is called______ emission. (Çəki: 
1)

machines
goods 
visionary 
carbon 
labor

Sual: Find the missing word: If there are breaches in the_____ and they are broken those 
responsible are guilty unprofessional conduct. (Çəki: 1)

labor 
actions 
delegation 
remote 
rules

Sual: Find the missing word: Climate change-the way that the_____ is getting hotter. (Çəki: 1)
footprint 
atmosphere 
storm
impose
dairy



Sual: Find the missing word: Some people say that the only real_____ are born leaders. (Çəki: 1)
employees
sbordinates
delegate
storm 
leaders

Sual: Find the missing word: Investors check that the firms don't______ workers by using sweatshop 
labor. (Çəki: 1)

help
delegate 
exploit 
maintain 
attain

Sual: Find the missing word: If you are visiting Madrid, why not go on a day _____ to Toledo? (Çəki: 
1)

drive
ride
flight
tour 
trip

Sual: Find the missing word: The museum is a short bus_____ from the tourist information office. 
(Çəki: 1)

journey 
voyage
ride 
crossing
flight

Sual: Find the missing word: ...... is a travel document that gives permission for a foreigner to 
enter,or in some cases to leave,another country.It is usually stamped in a traveller's passport. (Çəki: 
1)

social tourism 
a license 
insrastructure
visa 
research and analysis

Sual: Find the missing word: ...... means the facilities such as 
airports,roads,water,sewers,electricity,and so on that are necessary before development of an area 
can take place. (Çəki: 1)

visa
social tourism 
a license 
infrastructure 
regulatiom



Sual: Find the missing word: ...... is recreational travel that is paid for wholly or in part by a 
government, a trade union or similar organisation. (Çəki: 1)

a license 
visa 
infrastructure 
social tourism 
development

Sual: Find the missing word: ...... is a document giving permission to carry on a particular kind of 
activity. (Çəki: 1)

visa
analysis
infrastructure 
social tourism 
a license 

Sual: Choose the correct translation: to ensure (Çəki: 1)
təyin etmək 
öhdəsinə götürmək 
təmin etmək 
cəhd etmək 
saxlamaq

Sual: Choose the correct translation: to maintain (Çəki: 1)
təyin etmək 
öhdəsinə götürmək 
təmin etmək 
cəhd etmək 
saxlamaq

Sual: Choose the correct translation: to undertake (Çəki: 1)
təyin etmək 
öhdəsinə götürmək 
təmin etmək 
cəhd etmək 
saxlamaq

Sual: Choose the correct translation: to attempt (Çəki: 1)
təyin etmək 
öhdəsinə götürmək 
təmin etmək 
cəhd etmək 
saxlamaq

Sual: Choose the correct translation: to provide (Çəki: 1)
təyin etmək 
öhdəsinə götürmək 
təmin etmək 
cəhd etmək 
saxlamaq



Sual: Choose the correct translation: to perform (Çəki: 1)
yerinə yetirmək 
cəlb etmək 
həvəsləndirmək
tələb etmək 
irəli çəkmək

Sual: Choose the correct translation: to promote (Çəki: 1)
yerinə yetirmək 
cəlb etmək 
həvəsləndirmək 
tələb etmək 
irəli çəkmək

Sual: Choose the correct translation: to involve (Çəki: 1)
yerinə yetirmək 
cəlb etmək 
həvəsləndirmək
tələb etmək 
irəli çəkmək

Sual: Choose the correct translation: to require (Çəki: 1)
yerinə yetirmək 
cəlb etmək 
həvəsləndirmək 
tələb etmək 
irəli çəkmək

Sual: Choose the correct translation: enviroment (Çəki: 1)
mühit 
səyahət
ölçü
boş
müvəqqəti

Sual: Choose the correct translation: measure (Çəki: 1)
mühit
səyahət 
ölçü 
boş 
müvəqqəti

Sual: Choose the correct translation: cruise (Çəki: 1)
mühit
səyahət 
ölçü 
boş
müvəqqəti



Sual: Choose the correct translation: leisure (Çəki: 1)
mühit
səyahət
ölçü
boş 
müvəqqəti

Sual: Choose the correct translation: temporary (Çəki: 1)
mühit 
səyahət 
ölçü 
boş
müvəqqəti

Sual: Choose the correct translation: impact (Çəki: 1)
qonorar
icazə
təsir
tədgiqat 
inkişaf

Sual: Two parties come to… (Çəki: 1)
Agreement 
Description 
Sign 
Effect 
Price

Sual: Choose the antonym to the underlined word: There are a lot of natural foods in the market. 
(Çəki: 1)

famous
man-made
old
new
 precious
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Sual: Choose the correct translation: a fee (Çəki: 1)
icazə 
qonorar



təsir 
tədgiqat
inkişaf

Sual: Choose the correct translation: development (Çəki: 1)
inkişaf 
icazə
təsir 
qonorar
tədgiqat

Sual: Choose the correct translation: research (Çəki: 1)
inkişaf 
icazə
tədgiqat
qonorar
təsir

Sual: Choose the correct translation: license (Çəki: 1)
inkişaf 
icazə
tədgiqat
qonorar
təsir

Sual: Choose the synonym to the underlined word Please report any accidents immediately to the 
office (Çəki: 1)

causes
losses
grants 
trials 
surveys

Sual: Choose the synonym to the underlined word The house was being guarded by a huge dog. 
(Çəki: 1)

low
angry 
bulky
rollout 
pretty

Sual: Choose the synonym to the underlined word Previosly,the child was under the protection of his 
mother. (Çəki: 1)

later 
earlier
sooner
before
lately



Sual: Choose the synonym to the underlined word His parents didn't allow himto stay out after 
midnight (Çəki: 1)

promote 
let 
refer 
ask 
tell

Sual: Choose the synonym to the underlined word .Rollout is the process of making a product 
available,perhaps in particular places to test reaction (Çəki: 1)

urgent
common 
special
principal 
premium

Sual: Choose the synonym to the underlined word Slavery was finally abolished in the US in the 
nineteenth century. (Çəki: 1)

established
cancelled
finished
founded 
privatized

Sual: Find the missing word. Corporate ............... is the way a company's employees think and act. 
(Çəki: 1)

image
ladder
culture
tradition
behave

Sual: Find the missing word. In case of life assurance the risk is certain to .......... sooner or later. 
(Çəki: 1)

occur 
attain 
conduct
treat
behave

Sual: Find the missing word. There are two types of life assurance : .................. and whole life 
assurance. (Çəki: 1)

occurance 
endowment
allowance 
permission
improvement

Sual: Find the missing word. In-person .............. can show an example or sample of anew product , 
but they are expensive. (Çəki: 1)



surveys
trials 
rollout
insuarrance 
occurance

Sual: Find the missing word. The US dollar is now the most counterfeited .......... In the world. (Çəki: 
1)

currency
contribution
measure 
finance
credit

Sual: Find the missing word. In Great Britain insuarance business is .............. by insuarance 
companies. (Çəki: 1)

involved
encourage
conduted 
increased
decreased

Sual: Find the missing word. Fundraising activities encourage people to give or ............... 
money,clothes,food or time to help the organization. (Çəki: 1)

donate
deduct 
effort 
affect 
ban

Sual: Find the missing word. The employees contrubutions are deduct from their ........ and salaries. 
(Çəki: 1)

premium 
principial 
wages 
previous
basic

Sual: Find the missing word. ................ assuarance is a branch of life assuarance . (Çəki: 1)
political 
industrial
retirement 
economical
business 

Sual: Find the missing word. Each member country is obliged to contrubute a certain amount 
-..............-of its own currency to the IMF. (Çəki: 1)

quota
a rate 
a deposite 



credit 
monitary

Sual: Find the missing word. In many organizations women ........ about the glass ceiling that 
prevents them from getting further than a particular level. (Çəki: 1)

refer 
complain
repay
arrange
discuss

Sual: Find the missing word. Employees who are made redundant may get ............. -advice about 
how to find another job. (Çəki: 1)

demotion
outplacement
dignaty
replace 
remote

Sual: Find the missing word. In case of insurance there is no .......... that the unsured may face the 
risk against which he has been insyred. (Çəki: 1)

certainty 
case
problem 
matter
position

Sual: Find the missing word. Market.......... is the process of finding out what people realy want. 
(Çəki: 1)

launch
payroll
research
start
finish

Sual: Find the missing word. Customer service manager deals with complaints from customers. 
(Çəki: 1)

reviews
options 
claims 
answers 
complain

Sual: Find the missing word. In many country insurance against ............... unemployment and old 
age is undertaken by the state. (Çəki: 1)

slowdown 
sickness 
maternity
retired
retirement



Sual: Find the missing word. In Britain there are ............ called building societies , which lend money 
to people who want to buy a house. (Çəki: 1)

mutuals
charities 
leaders 
operators
organizations

Sual: Find the missing word. The way that an employee is doing their job is discussed at 
performance.................- regular meetings with their manager. (Çəki: 1)

dispute
reviews 
training
discuss
solutions 

Sual: Find the missing word. The number of managment levels in the company hierarchy has 
been .............. ,and many managers have lost their jobs. (Çəki: 1)

reduced
increased 
cunducted 
behaved 
soared 

Sual: Find the missing word. Downsized companies use more .................... independent people 
whowork for several different companies. (Çəki: 1)

executives
start-ups 
freelancers
producers 
 customers 

Sual: Convince him to lend you the money to start up your business. (Çəki: 1)
collect 
negotiate
determine 
exceed 
borrow 

Sual: Private limited Company is (Çəki: 1)
 lita
TPS
PLC 
In 
OSCE 
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Sual: Find the missing word. Some industries such as coal and electrity, had been .........- they were 
entirely, state-owned. (Çəki: 1)

privatized
self-employed 
nationalized 
promoted
banned

Sual: Find the missing word.................... assurance is provided for a specified number of years or 
until the attainment of a certain age. (Çəki: 1)

whole life 
endowment
industrial
deseases
risks

Sual: Find the missing word. ................. is the production of materials and goods. (Çəki: 1)
economy 
industry
development
crease
slow down

Sual: Find the missing word.One of the main laws of the market is the law of.......... and demand. 
(Çəki: 1)

save 
recession 
supply
economy 
finance

Sual: Find the missing word.If the company needs to raise more capital for expansion it 
might .............. new shares. (Çəki: 1)

issue
put 
elapse
take 
buy

Sual: Find the missing word combination. I'm not often ...............- away from work due to illness. 
(Çəki: 1)

out of work 
work for 



off work 
 temprorary 
permanent

Sual: Find the missing word. We need ........ journalists who are very good at their job. (Çəki: 1)
trouble
talanted 
staff
unskilled
unabled

Sual: Find the missing word. ..............passes to the buyer when tha final installment is paid. (Çəki: 1)
leasing
xpenditure
ownership 
leadership
friendship

Sual: . Find the missing word. The budget is an estimate of national.......... and expenditure for the 
ensuing fiscal year. (Çəki: 1)

service 
relation
revenue
correlation
tools

Sual: Find the missing word.The graduates might have ........... in interesting subjects, but they have 
no work experience. (Çəki: 1)

appoint
qualification
dull
opinion 
attitude

Sual: Find the missing word. The company makes payments for my ........., money that I'll get 
regularly after I stop working (Çəki: 1)

wage 
salary 
pension
salary
amount

Sual: Find the missing word. You need to acquire ..............-get knowledge through doing things. 
(Çəki: 1)

experience 
comission 
severance
money
economy



Sual: Find the missing word. Fonance comprises two parts; ........ finance and finance of economic 
entities. (Çəki: 1)

control 
monetary
public
economy
money 

Sual: Find the missing word. We often get ...........- money that customers leave in addition to the bill. 
(Çəki: 1)

salary
tips
perks 
salary
amount 

Sual: Find the missing word. We ...... someone only if we find the right person. (Çəki: 1)
appoint
cover 
walk
play
exercise

Sual: Find the missing word. There is a system of ................ in my company , which means we can 
work when we want with him certain limits. (Çəki: 1)

day shift 
flextime
overtime
day off 
over pay

Sual: Find the missing word. I get a basic salary ,plus ........ - a percentage on everything I sell. 
(Çəki: 1)

background
commission
 compensation 
money
credit 

Sual: Find the missing word. Fred is van ......... but he was fed up with doing long trips. (Çəki: 1)
technical 
driver
personal 
asistant
repearer 

Sual: Find the missing word. Find the missing word. A bank ......... is the most widely used type of 
short term finance (Çəki: 1)

trade



overdraft
discount
selling
consuming

Sual: . Find the missing word. Unit trusts are not limited companies - they do not issue 
_____________. (Çəki: 1)

shares 
perks
offers
salaries
wages

Sual: Find the missing word.He looked in the situations ........ pages of the local newspaper. (Çəki: 1)
process 
vacant
appoint
redundant
willing

Sual: . Find the missing word. Working in a hotel,we get some nice .......... - for example , free ,eals. 
(Çəki: 1)

tips 
gaps
perks
offers
shares 

Sual: . Find the missing word. ................. money first came into use in the form of receipts. (Çəki: 1)
gold
copper 
paper 
shell
silver

Sual: Find the missing word. Unit trusts operate in a very ........ manner to investment trusts. (Çəki: 
1)

limited
similar
regular
same 
different

Sual: Find the missing word. .................. of enterprise is one of the most effective systems of the 
market economy. (Çəki: 1)

freedom
environment
demand
supply
monetary



Sual: Choose the synonym to the underlined words. The distribution of things involves giving or 
delivering them to a number of people or places. (Çəki: 1)

allocation 
education
degree
level 
information

Sual: Choose the synonym to the underlined words. Competition makes producers of scarce 
resources utilize them economically. (Çəki: 1)

make
refuse
regret
ban
use

Sual: Choose the synonym to the underlined words. There are many important financial institutions 
which provide finance for comanies. (Çəki: 1)

develop
become
supply
demand 
increasing

Sual: Choose the synonym to the underlined words. He gave me a loan until next month. (Çəki: 1)
goal
skill
credit
finance
money 

Sual: A business run by a partnership has _________owners (Çəki: 1)
two or more
 zero 
one 
a million 
a hundred

Sual: A business run by a …… has two or more owners. (Çəki: 1)
 owner
partnership
sole trader
active partner
limited partner
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Sual: Choose the synonym to the underlined words. John enjoyed his new job even though the 
remuneration was not as much as he used to. (Çəki: 1)

fringe
salary 
compensation
money
shares 

Sual: Choose the synonym to the underlined words. A company's share capital is often referred to 
as equity capital. (Çəki: 1)

joint stock 
capital market 
face value 
shareholders
employee

Sual: Choose the synonym to the underlined words. The budget is an estimate of national revenue 
and expenditure for the ensuing fiscal year. (Çəki: 1)

following
special
effective
previous
last

Sual: Choose the antonym to the underlined words. The firm purchased new modern equipment . 
(Çəki: 1)

sold
get
hire
buy
pay

Sual: Choose the antonym to the underlined words. Our organization employed this worker ten 
years ago. You'll remain a permanent member of my staff. (Çəki: 1)

skilled 
made
fired
make
enable

Sual: Choose the synonym to the underlined words. It's difficult to work in shifts. (Çəki: 1)
easy
hard 
fascinating



good
comfortable

Sual: Choose the antonym to the underlined words. My friend will buy this car in a week. (Çəki: 1)
cause 
sell 
big
wait
disturb

Sual: Choose the synonym to the underlined words. You'll remain a permanent member of my staff. 
(Çəki: 1)

workforce 
customer
graduate 
buyer
seller

Sual: Choose the synonym to the underlined words. Scarcity of resources makes it necessary to 
save them . (Çəki: 1)

revenue
goal
deficit
income
outcome

Sual: Choose the synonym to the underlined words. The necessary money will be paid by proprietor 
tomorrow. (Çəki: 1)

customer
owner
purchaser
buyer
seller

Sual: Choose the synonym to the underlined words. Savers and borrowers are connected by 
financial intermediaries. (Çəki: 1)

fiscal
local
stable
public
regional

Sual: Choose the antonym to the underlined words. The consumer throught the price was high. 
(Çəki: 1)

producer
employee
leader
labor
manager



Sual: Choose antonym to the underlined words. A permanent job doesn't finish after a fixed period. 
(Çəki: 1)

full-time 
temporary
overtime 
eternal
internal

Sual: Choose synonym to the underlined words. there has to be a more equitable way to do this. 
(Çəki: 1)

fair 
stable
fiscal
monetary
money

Sual: Choose synonym to the underlined words. If an economic system is to perform well it must 
deal with many economic challanges. (Çəki: 1)

resources
problems
policies 
regular
similar 

Sual: Choose synonym to the underlined words. This factory has the most advanced equipment. 
(Çəki: 1)

important
progressive 
correct
stimul
attend

Sual: Choose synonym to the underlined words. You need to be more precise in telling us what the 
problem is if you want us to help you. (Çəki: 1)

polite
rigid 
accurate
sale 
buy 

Sual: Choose antonym to the underlined words. Strong rain prevented us from going out. (Çəki: 1)
competed
assisted 
demoted 
buy 
sell 

Sual: Choose synonym to the underlined words. If you had to forecast for the entire country , the 
accuracy increases even further. (Çəki: 1)



exactness
 liability 
traning
economy 
money 

Sual: Choose synonym to the underlined words. Slavery was finally abolished in the US in the 
nineteenth century. (Çəki: 1)

established
cancelled
finished
money
economy

Sual: Translate into Azerbaijan Employment (Çəki: 1)
işçi heyyəti 
işçi qüvvəsi 
məşğulluq 
nailiyyət 
məqsəd

Sual: Target (Çəki: 1)
işçi heyyəti 
işçi qüvvəsi 
məşğulluq 
nailiyyət
məqsəd

Sual: Labour force (Çəki: 1)
işsizlik 
işçi qüvvəsi 
məşğulluq 
nailiyyət
məqsəd

Sual: Attainment (Çəki: 1)
işçi heyyəti 
işçi qüvvəsi 
məşğulluq 
nailiyyət 
məqsəd

Sual: behavior (Çəki: 1)
davranış
fərq
qanəedici
əhəmiyyət
çox geniş 



Sual: extensively (Çəki: 1)
davranış
fərq
qanəedici
əhəmiyyət
çox geniş 

Sual: distinction (Çəki: 1)
davranış
fərq
qanəedici
əhəmiyyət
çox geniş 

Sual: satisfaction (Çəki: 1)
davranış
fərq
qanəedici
əhəmiyyət
çox geniş 

Sual: utility (Çəki: 1)
davranış
fərq
qanəedici
əhəmiyyət
çox geniş 

Sual: to impose (Çəki: 1)
fikrini qəbul etdirmək
mübahisə etmək
fikrini dəyişmək 
qadağan etmək
əldə etmək

Sual: to obtain (Çəki: 1)
fikrini qəbul etdirmək
mübahisə etmək
fikrini dəyişmək 
qadağan etmək
əldə etmək

Sual: If goods are transported by …….., the carrier is the railway company. (Çəki: 1)
 airline
train 
road
sea
way
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Sual: to argue (Çəki: 1)
fikrini qəbul etdirmək
mübahisə etmək
fikrini dəyişmək 
qadağan etmək
əldə etmək

Sual: to conceive (Çəki: 1)
fikrini qəbul etdirmək
mübahisə etmək
fikrini dəyişmək 
qadağan etmək
əldə etmək

Sual: to forbid (Çəki: 1)
fikrini qəbul etdirmək
mübahisə etmək
fikrini dəyişmək 
qadağan etmək
əldə etmək

Sual: to determined (Çəki: 1)
təyin etmək
inkişaf etdirmək
fikrini dəyişmək
mövcud olmaq
həyata keçirmək

Sual: to carry out (Çəki: 1)
təyin etmək
inkişaf etdirmək
fikrini dəyişmək
mövcud olmaq
həyata keçirmək

Sual: to develop (Çəki: 1)
təyin etmək
inkişaf etdirmək
fikrini dəyişmək
mövcud olmaq
işçi 



Sual: to devise (Çəki: 1)
təyin etmək
inkişaf etdirmək
mövcud olmaq
həyata keçirmək
fikrini dəyişmək

Sual: to exist (Çəki: 1)
təyin etmək
inkişaf etdirmək
fikrini dəyişmək
mövcud olmaq
həyata keçirmək

Sual: producer (Çəki: 1)
istehsalçı
istehlakçı 
 işçi 
oxşar
tanış

Sual: familiar (Çəki: 1)
istehsalçı
istehlakçı 
işçi 
oxşar
tanış

Sual: similar (Çəki: 1)
istehsalçı
istehlakçı 
işçi 
oxşar
tanış

Sual: consumer (Çəki: 1)
istehsalçı
istehlakçı 
işçi 
oxşar
tanış

Sual: employer (Çəki: 1)
istehsalçı
istehlakçı 
işçi 
oxşar
tanış



Sual: to unite (Çəki: 1)
birləşmək
məşğulluq
səhm
rəqabət
hüquqi

Sual: legal (Çəki: 1)
birləşmək
məşğulluq
səhm
rəqabət
hüquqi

Sual: rivalry (Çəki: 1)
birləşmək
məşğulluq
səhm
rəqabət
hüquqi

Sual: share (Çəki: 1)
birləşmək
məşğulluq
səhm
rəqabət
hüquqi

Sual: trade (Çəki: 1)
birləşmək
məşğulluq
səhm
rəqabət
hüquqi

Sual: distribution (Çəki: 1)
bölgü
məşğulluq
səhm
rəqabət
hüquqi

Sual: Choose the correct pair of synonyms. (Çəki: 1)
to demand – to require
to solve – to decide
important – improvement
competition – running
to utilize – to save



Sual: Choose the correct pair of synonyms. (Çəki: 1)
to supply – to provide
consumer – seller
to sell – to produce
total – common
monetary – fiscal

Sual: Choose the correct pair of synonyms.Another important force of the market is competition. 
(Çəki: 1)

essential, rivalry
principle, race
difficult, championship
valuable, production
useless, recession

Sual: Choose the correct pair of synonyms. Another important force of the market is competition. 
(Çəki: 1)

essential, rivalry
principle, race
difficult, championship
valuable, production
useless, recession

Sual: Choose the synonyms of the underlined words. Competition protects the customers – they 
have the right of choice. (Çəki: 1)

defends, buyers
defeats, consumers
attacks, sellers
deceives, purchasers
supplies, consumers

Sual: Choose the correct pair of synonyms. (Çəki: 1)
to demand – to require 
to solve – to decide
important – improvement
competition – running
to utilize – to save

Sual: Choose the correct pair of synonyms. (Çəki: 1)
to supply – to provide
consumer – seller
to sell – to produce
total – common
monetary – fiscal

Sual: Another important force of the market is competition. (Çəki: 1)
essential, rivalry 
principle, race
difficult, championship



valuable, production
useless, recession

Sual: Choose the synonyms of the underlined words. Competition protects the customers – they 
have the right of choice. (Çəki: 1)

defends, buyers
defeats, consumers
attacks, sellers
deceives, purchasers
supplies, consumers

Sual: Producer-retailer-consumer channel is most often used for products that are BULKY. (Çəki: 1)
Little;
Small;
Lower;
Heavy
 Light

Sual: It’s a channel for perishable PRODUCTS. (Çəki: 1)
Needs
Goods
Wants
Ties
Deals

Sual: Producers may use agents to REACH wholesalers. (Çəki: 1)
Achieve 
Touch
Buy
Evaluate
 Capture
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Sual: This channel used for products that are sold through thousands of OUTLETS to millions of 
consumers. (Çəki: 1)

Tires
 Decoration
Furniture
Stores
Commission



Sual: Often a manufacturer uses different distribution channels to reach DIFFERENT market 
segments. (Çəki: 1)

Similar
Little
Small
Various
Difficult

Sual: Producer to consumer channel includes no marketing INTERMEDIARIES. (Çəki: 1)
Middlemen
Agent
Broker
Retailer
Seller

Sual: PRODUCERS can better CONTROL the quality and prices of their products. (Çəki: 1)
Manufacturers, manage
Consumer, operate
Constructors, deal 
Consumer, direct
E) Factory-owner, deal with

Sual: Experiences teach that it won’t be possible to eliminate inflation entirely of inducing a major 
recession combined of high unemployment. (Çəki: 1)

Price increase
Slow down
Conduct
Receive
Unite

Sual: The macroeconomist’s concerns are with such global questions as total production, total 
employment, the rate of change of overall prices. (Çəki: 1)

Universal
small
Conservative
little
Impossible

Sual: An important task of macroeconomics is to develop ways of aggregating the values of the 
economic activities of individuals and firms into meaningful totals. (Çəki: 1)

Significant
Protective
Safe
Vicious
Shiny

Sual: Macroeconomic analysis attempts to explain how the magnitudes of the principal 
macroeconomic variables are determined and how they interact. (Çəki: 1)

Major



Small
Torrential
Ambush
Chilly

Sual: Macroeconomic theory forecasts _____ economic activity. (Çəki: 1)
Future
Past
Induce
Maintenance
Reduction

Sual: _____ means economics in the large. (Çəki: 1)
macroeconomics
microeconomics
marketing 
economy 
business

Sual: In _____ you shouldn’t sit down in a café until you’ve shaken hands with everyone you know. 
(Çəki: 1)

France
Germany
Italy
Spain
Great Britain

Sual: During the _________it was believed that unemployment could be reduced to 4 percent of the 
labor force without causing inflation. (Çəki: 1)

 1960s
1980s;
1950s;
1965s;
1987s

Sual: What limits the use of economic power? (Çəki: 1)
market 
 competition 
company
budget 
capital

Sual: What causes changes in market prices? (Çəki: 1)
changes in demand and supply
changes in production
changes in fiscal policy
changes in domestic economy
changes in economic climate



Sual: How many essential features does the framework of a market or capitalist system contains? 
(Çəki: 1)

five 
 six 
 seven 
four 
two

Sual: We shall use all these terms to stand ____ a market economy. (Çəki: 1)
with 
to 
 in 
at 
for

Sual: We can approach the more realistic situation step ____ step. (Çəki: 1)
to 
on 
at 
by 
in

Sual: In the 1920-th production began ________ with demand. (Çəki: 1)
to catch on
to catch up
to rely
to go
to work

Sual: Choose the correct translation İyirminci illərin əvvəllərinə qədər biznesmenlər əmtəə 
istehsalına xüsusi diqqət yetirirdilər. (Çəki: 1)

Business produced mainly goods untill the twenties.
Untill the early twenties century businessmen were directed mainly toward the production of 

goods.
Untill the twentieth the businessmen paid attention to goods. 
Untill the twentyth the business were directed toward the production of goods.
Untill the first half twentieth businessmen mainly consumed goods.

Sual: Choose the correct translation Istehsalçılar nə istehsal edirdilərsə onu da satırdılar. (Çəki: 1)
Producers sold everything.
Manufactures produced everything they sold.
Producers could sell what they ordered.
Manufacturers sold everything they produced.
[Manufacturers could almost sold everything they produced.
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Sual: Choose the correct translation .Marketinq əmtəə istehsalı və malların paylanması ilə 
məhdudlaşırdı. (Çəki: 1)

Marketing was limited with distribution of goods.
 Marketing was limited with production of goods.
Marketing was limited with production disttribution. 
Marketing was limited to producing and distributing finished goods.
Marketing was limited to everything they produced.

Sual: Choose the correct translation İyirminçi illərdə istehsal tələblə ayaqlaşmağa başladı. (Çəki: 1)
In 1920 manufacture begun to up with demand.
In the 1920s production began to catch up with demand. 
In the 1920s production begun catch up with demand.
In 1920s production got behind demand.
in the 1920s production went up with needs.

Sual: Choose the correct translation Firmalar ançaq istehlakcıya lazım olan malları istehsal etməyə 
başladı (Çəki: 1)

Firms begin to produce merchandise
Firms began producing only consumer goods
Firms began to produce necessary consumer goods
Companies decided to manufacture consumer goods.
Firms began to produce only the goods required by consumers.

Sual: Complete the sentences. This new sales orientation was characterized by _________. (Çəki: 
1)

production efficiency
taking orders and delivering goods.
advertising expenditures.
sales techniques and sales forces
increased advertising, enlarged sales forces and selling techniques.

Sual: Complete the sentences. 37. The firm must always obtain marketing information – this time 
regarding___________. (Çəki: 1)

achieving the organization goals.
advertising expenditures.
the effectiveness of its efforts.
satisfying cistomers needs.
providing customers satisfaction.

Sual: The Soviet Union was one of the 44 governments _____ representatives signed the original 
Bretton Woods Pact. (Çəki: 1)

who
whom 
what
whose 



 that

Sual: Choose the correct synonym The Board of the Governors of the Bank annual in September. 
(Çəki: 1)

decadal
medieval
yearly
quarter
 monthly

Sual: Choose the correct antonym .Before recommending a Bank loan, the staff of the bank must be 
satisfied that the productivity of the borrowing country will be increased. (Çəki: 1)

lended 
decreased
 included 
blocked 
signed 

Sual: The executive directors of the World Bank hire a president, who in turn, hires a staff. (Çəki: 1)
fires 
joins
determines 
employs 
 appoints

Sual: Choose the correct synonym .An IFC was established to supplement the World Bank by 
participating in equity financing in member countries. (Çəki: 1)

signed
founded
rented 
appointed
hired

Sual: What 5 countries are the largest subscribers of the World Bank? (Çəki: 1)
US, Japan, Germany, the U.K., France 
Poland, China, Germany, France, Spain 
The Ukraine, Russia, China, India, U.S
Azerbaijan, Georgia, Spain, Italy, Greece
Malaysia, Sweden, Russia, Italy, Poland

Sual: Choose the correct preposition . Azerbaijan Republic became a member _____ the World 
Bank ___ September 1992 (Çəki: 1)

at, of
of, in
-, o 
on, at 
-, at 

Sual: It is important to have a good line ____ credit. (Çəki: 1)



from 
of 
in 
on 
 at

Sual: A bank also issues letters___ credit. (Çəki: 1)
about
 from
for
of
at

Sual: Azerbaijan Republic became a member _____ the International Development Association in 
March 1995. (Çəki: 1)

from
at
of 
for 
about

Sual: More than 2000 teachers have received some form in _____. (Çəki: 1)
training
school
support
distribution
 project

Sual: Producers sell directly to______ for several reasons. (Çəki: 1)
dealer
creditor
consumer
customer
values

Sual: A retailer is a______ that buys from producer and sells to consumer. (Çəki: 1)
user 
middleman
investor
charisma
dynamism

Sual: Low power distance______ is the situation when managers are easy to talk to. (Çəki: 1)
values
beliefs 
culture
believe
leadership



Sual: Power-distance is the distance between_____ and employees. (Çəki: 1)
producer 
managers
supplier 
distant 
phase

Sual: Gases produced by industry,transport is called______ emission. (Çəki: 1)
machines 
goods
visionary
carbon
labor

Sual: If there are breaches in the_____ and they are broken those responsible are guilty 
unprofessional conduct. (Çəki: 1)

labor 
actions
delegation
remote
rules

Sual: Climate change-the way that the_____ is getting hotter. (Çəki: 1)
footprint 
atmosphere
storm 
impose 
dairy

Sual: Some people say that the only real_____ are born leaders. (Çəki: 1)
employees
sbordinates 
delegate 
storm 
leaders

Sual: Investors check that the firms don't______ workers by using sweatshop labor. (Çəki: 1)
help 
delegate
exploit 
maintain 
attain

Sual: If you are visiting Madrid, why not go on a day _____ to Toledo? (Çəki: 1)
drive 
ride 
flight
tour 
trip



Sual: The museum is a short bus_____ from the tourist information office. (Çəki: 1)
journey 
voyage
ride
crossing 
flight

Sual: ...... is a travel document that gives permission for a foreigner to enter,or in some cases to 
leave,another country.It is usually stamped in a traveller's passport. (Çəki: 1)

social tourism 
a license 
insrastructure 
visa 
research and analysis

Sual: .. ...... means the facilities such as airports,roads,water,sewers,electricity,and so on that are 
necessary before development of an area can take place. (Çəki: 1)

visa
social tourism 
a license 
infrastructure 
regulatiom

Sual: ...... is recreational travel that is paid for wholly or in part by a government, a trade union or 
similar organisation. (Çəki: 1)

a license 
visa 
infrastructure 
social tourism 
development

Sual: ...... is a document giving permission to carry on a particular kind of activity. (Çəki: 1)
visa 
analysis
infrastructure
social tourism 
a license 
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Sual: The Republic ....... Azerbaijan joined International Labor Organization (ILO) ...... the year 1992. 
(Çəki: 1)

on, at 
of, in 
of, from 
In, at 
of, on

Sual: ..... the period 1994-1995 the International Labor Organization assisted the Government .... 
Azerbaijan ... designing and implementing pilot labour force Survey project. (Çəki: 1)

at, on,of 
from, of, in 
On, in, for 
For, of, at 
for, of, in

Sual: Choose the correct variant. There are _____ political parties in Azerbaijan. (Çəki: 1)
30
25
20 
18 
35

Sual: Choose the correct variant. How many contracts were signed between 1994-1996 in 
Azerbaijan? (Çəki: 1)

2
3 
6
5
4

Sual: When was the early oil completed by AIOC? a.in May, 1998 (Çəki: 1)
in March, 2000 
in April, 1999 
in June, 1997 
in May, 1999
in May, 1998 

Sual: Choose the correct answer. The radical reforms in Azerbaijan started in _____. (Çəki: 1)
1995
1975
1990 
1980
1982

Sual: Choose the correct answer. In 1996 it became possible to ensure the growth of GDP by (Çəki: 
1)

1,3% 
2 % 
0,5 % 



1,2 %
5 %

Sual: What percentage of export structure is oil rebated products and cotton? (Çəki: 1)
40
42
50
75
 48

Sual: From 1962 there started the installation _____ transformer and motor oil unit. (Çəki: 1)
of
at
in 
on
to

Sual: Accounting shows financial picture of the firm. (Çəki: 1)
financial methods
financial modes 
financial position
business debts
accounting records

Sual: If you put the boy among all those tall children, he looks even shorter. (Çəki: 1)
middle, appears
between, seems
betwixt, loses 
center, seems
between, glances

Sual: I started 15 years ago with … of 50000 $. (Çəki: 1)
Dividends
Lenders
Capital
Lenders
Shares

Sual: Give the antonym of the word “minority” (Çəki: 1)
a lot of
a plenty of
a little
majority
advantage

Sual: Complete the sentences. ............. means tourist travel between two or more countries. (Çəki: 
1)

international tourism 
resort 



excursion
convention
tourist

Sual: .......... is a place where people gather for recreational purposes. (Çəki: 1)
tourist 
resort
trip
hotel
inns

Sual: ........ is a trip away from a person`s usual place of residence for less than 24 hours, although 
weekend trips are often classified as excursions. (Çəki: 1)

excursion
destination
resident
recriational
forth

Sual: ............ are places at which travellers can obtain a bed and food while on a trip, in other words, 
hotels,motels,inss and so forth. (Çəki: 1)

grounds
excursion 
accommodations
convention 
primarily

Sual: .......... is a meeting at which people usually within the same field or business exchange their 
ideas,experiences and so on. (Çəki: 1)

rapid 
recreation
resort 
convention
excursion

Sual: .......... are people who cross the borders for various reasons. (Çəki: 1)
passangers
migrants 
commuters
visitors 
hikers

Sual: ............ cease to be tourists if their purpose is not leisure or recreation. (Çəki: 1)
outbound 
travellers 
inbound tourism 
passangers 
domestic tourism



Sual: ......... tourism means the same as internal tourism. (Çəki: 1)
passangers 
inbound tourism 
nomad
domestic tourism 
itinerant

Sual: .......... tourism involves the residents of a particular country going abroad. (Çəki: 1)
domestic tourism 
travellers 
passangers 
inbound tourism 
holidaymaker

Sual: ......... means that people who live in another country come to visit the country where you live 
(Çəki: 1)

outbound tourism 
globetrotter 
itinerant 
commuter
hiker

Sual: Find the missing word. . In the 1920s production began to _______ up with demand. (Çəki: 1)
achieve
catch 
gain
connect 
hotline

Sual: Marketers realized that the best approach had to first determine what______ need and then 
develop goods and services. (Çəki: 1)

creditors
customers 
owners 
voicemail
arrive

Sual: The firm must always obtain marketing information – this time regarding___________. (Çəki: 
1)

achieving the organization goals.
advertising expenditures.
the effectiveness of its efforts.
satisfying cistomers needs.
providing customers satisfaction.

Sual: The Soviet Union was one of the 44 governments _____ representatives signed the original 
Bretton Woods Pact. (Çəki: 1)

who
whom
what



 whose 
that

Sual: Choose the correct synonym The Board of the Governors of the Bank annual in September. 
(Çəki: 1)

decadal
medieval
yearly
quarter
monthly

Sual: Choose the correct antonym Before recommending a Bank loan, the staff of the bank must be 
satisfied that the productivity of the borrowing country will be increased. (Çəki: 1)

 lended 
decreased
included 
blocked 
signed 

Sual: The executive directors of the World Bank hire a president, who in turn, hires a staff. (Çəki: 1)
fires 
joins
determines
employs
appoints
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Sual: Choose the correct synonym An IFC was established to supplement the World Bank by 
participating in equity financing in member countries. (Çəki: 1)

signed
founded
rented 
appointed
hired

Sual: Choose the synonym to the underlined words. The distribution of things involves giving or 
delivering them to a number of people or places. (Çəki: 1)

allocation
education
degree
level



information

Sual: Choose the synonym to the underlined words. Competition makes producers of scarce 
resources utilize them economically. (Çəki: 1)

make
use
refuse
regret
ban

Sual: Choose the synonym to the underlined words. There are many important financial institutions 
which provide finance for comanies. (Çəki: 1)

develop
become
supply
demand 
increasing 

Sual: Choose the synonym to the underlined words. He gave me a loan until next month. (Çəki: 1)
goal
skill 
credit
finance
money 

Sual: Choose the synonym to the underlined words. John enjoyed his new job even though the 
remuneration was not as much as he used to. (Çəki: 1)

fringe
salary
compensation 
money 
shares 

Sual: Choose the synonym to the underlined words. A company's share capital is often referred to 
as equity capital. (Çəki: 1)

joint stock 
capital market 
face value 
shareholders 
employee

Sual: Choose the synonym to the underlined words. The budget is an estimate of national revenue 
and expenditure for the ensuing fiscal year. (Çəki: 1)

following
special
effective 
previous
last



Sual: Choose the antonym to the underlined words. The firm purchased new modern equipment . 
(Çəki: 1)

sold 
get 
hire
buy
pay

Sual: Choose the correct preposition Azerbaijan Republic became a member _____ the World Bank 
___ September 1992. (Çəki: 1)

at, of
of, in
 -, o 
on, at 
-, at 

Sual: It is important to have a good line ____ credit. (Çəki: 1)
from 
of 
in
on 
at

Sual: A bank also issues letters___ credit. (Çəki: 1)
about
from
for 
of 
at

Sual: Azerbaijan Republic became a member _____ the International Development Association in 
March 1995. (Çəki: 1)

from
at
of 
for 
about

Sual: Choose the synonym to the underlined words. It's difficult to work in shifts. (Çəki: 1)
easy
hard 
fascinating
good
comfortable

Sual: Choose the antonym to the underlined words. My friend will buy this car in a week. (Çəki: 1)
cause 
sell
wait 
big



disturb

Sual: Choose the synonym to the underlined words. You'll remain a permanent member of my staff. 
(Çəki: 1)

workforce
customer 
graduate 
buyer
seller

Sual: Choose the synonym to the underlined words. Scarcity of resources makes it necessary to 
save them . (Çəki: 1)

revenue
goal
deficit 
income 
outcome

Sual: Choose the synonym to the underlined words. The necessary money will be paid by proprietor 
tomorrow. (Çəki: 1)

customer 
owner
purchaser
buyer
seller

Sual: Choose the synonym to the underlined words. Savers and borrowers are connected by 
financial intermediaries. (Çəki: 1)

fiscal 
local
stable
public
regional

Sual: Choose the antonym to the underlined words. The consumer throught the price was high. 
(Çəki: 1)

producer 
employee
leader 
labor 
manager

Sual: Choose antonym to the underlined words. A permanent job doesn't finish after a fixed period. 
(Çəki: 1)

full-time 
temporary 
overtime
eternal
internal



Sual: Choose synonym to the underlined words. there has to be a more equitable way to do this. 
(Çəki: 1)

fair 
stable 
fiscal 
monetary 
money

Sual: . Choose synonym to the underlined words. If an economic system is to perform well it must 
deal with many economic challanges. (Çəki: 1)

resources 
problems
policies
regular
similar 

Sual: Choose synonym to the underlined words. This factory has the most advanced equipment. 
(Çəki: 1)

important 
progressive 
correct 
stimul
attend

Sual: Choose synonym to the underlined words. You need to be more precise in telling us what the 
problem is if you want us to help you. (Çəki: 1)

polite 
rigid 
accurate 
sale 
buy 

Sual: Choose antonym to the underlined words. Strong rain prevented us from going out. (Çəki: 1)
competed
assisted
demoted 
buy
sell 

Sual: Choose synonym to the underlined words. If you had to forecast for the entire country , the 
accuracy increases even further. (Çəki: 1)

exactness
liability
traning
economy
money 

Sual: . Choose synonym to the underlined words. Slavery was finally abolished in the US in the 
nineteenth century. (Çəki: 1)



established 
cancelled
finished
money 
economy

Sual: Selling on the Internet (Çəki: 1)
Market
E-commerce
Shop 
Warehouse
Retail

Sual: Companies or products in the same market are competitors. (Çəki: 1)
key players
 rivals
entense
fierce
tough

Sual: Choose the correct translation. We invite the most interesting candidates to a group 
discussion. (Çəki: 1)

Biz bütün maraqlı namizədləri müzakirəyə çağırırıq.
Biz ən maraqlı namizədləri qrup müzakirəsinə çağırırıq.
Biz bütün maraqlı namizədləri müzakirələrdə iştirak etməyə çağırırıq.
Maraqlı namizədlər müzakirələrdə iştirak edirlər.
Bütün maraqlı namizədlər qrup müzakirəsində iştirak edirlər.
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Sual: Any economic system is trying to find most effective and efficient ways of utilizing resources 
for the production of goods and services. (Çəki: 1)

using 
saving
valuing 
producing 
wasting

Sual: Choose the correct pair of synonyms. (Çəki: 1)
to demand – to require
to solve – to decide
important – improvement



competition – running
to utilize – to save

Sual: Choose the correct pair of synonyms. (Çəki: 1)
to supply – to provide
consumer – seller
monetary – fiscal
to sell – to produce 
total – common

Sual: Choose the synonyms of the underlined words. Market competition makes producers and 
suppliers of scarce resources utilize them economically. (Çəki: 1)

rivalry, manufactures
contest, merchants
comprehension, consumers
completion, sellers
total – common

Sual: Producers sell _____ consumers _____ several reasons. (Çəki: 1)
To, For
To, in
In, for
For, to
 About, to

Sual: Producers can easily control the quality and the price …their products (Çəki: 1)
Of
For
At
In
 Against

Sual: The agent is an independent intermediary … the producer and the user. (Çəki: 1)
Between
 In
For
Across
 Against 

Sual: A retailer is a middleman that buys …producers and sells … consumers (Çəki: 1)
From, to
To, to
-, to
From, -
For, to

Sual: Producer-retailer-consumer channel is most often used for products that are BULKY (Çəki: 1)
Little
Small



Lower
Heavy
Light

Sual: It’s a channel for perishable PRODUCTS. (Çəki: 1)
 Needs
 Wants
Goods
Ties
Deals

Sual: Producers may use agents to REACH wholesalers. (Çəki: 1)
Achieve 
Touch
Capture
 Buy
 Evaluate

Sual: This channel used for products that are sold through thousands of OUTLETS to millions of 
consumers. (Çəki: 1)

Tires
 Decoration
 Furniture
Stores
 Commission

Sual: Often a manufacturer uses different distribution channels to reach DIFFERENT market 
segments (Çəki: 1)

 Similar
Little
Small
Various
Difficult

Sual: Producer to consumer channel includes no marketing INTERMEDIARIES. (Çəki: 1)
Middlemen
 Agent
Broker
 Retailer
Seller

Sual: Match the word to its definition A piece of planned work which is finished over a period of time 
and intended to achive a particular aim. (Çəki: 1)

webcam
public telephone 
helpline 
project 
cost



Sual: The second stage starts before the firs finishes. (Çəki: 1)
simultaneous 
run parallet 
landline 
overlap
goods

Sual: Match the word to its definition A jorney in a plane (Çəki: 1)
flight 
voyage
crossing
drive
ride

Sual: Match the word to its definition A long jorney in a plane (Çəki: 1)
crossing
voyage 
crossing 
drive 
ride

Sual: A short jorney in a boat or ship which goes from one side of a sea. (Çəki: 1)
 flight 
voyage 
crossing 
drive
ride

Sual: A jorney in a car (Çəki: 1)
crossing 
voyage 
tour 
drive 
ride

Sual: A short journey in a vehicle such as a car (Çəki: 1)
crossing 
voyage 
crossing 
drive 
ride

Sual: A planned journey during which a fixed period of time . (Çəki: 1)
crossing 
voyage
tour 
 drive 
ride



Sual: Choose the synonym to the underlined word If investors don't approve of a company's 
activites ,they may sell their stake in it (Çəki: 1)

holding
real estate 
company
attain 
maintain 

Sual: Some professions have a code of conduct -rules that control the way they behave . (Çəki: 1)
human rights 
on sehedule 
a code of ethies 
holding 
voyage 

Sual: We drew up a three-year time-frame for the work to be completed. (Çəki: 1)
make up time 
timescale 
on schedule 
holding 
attain 

Sual: The employees use a diary to plan their week. (Çəki: 1)
calendar 
timeframe 
priority 
real estate 
timescale

Sual: Rebalancing often means a reuction in income (Çəki: 1)
changes
downshifting
salary 
stimulating 
totals

Sual: There are a lot of bank and public holidays in USA (Çəki: 1)
working hours 
entertaing
vacation 
lead time 
delay

Sual: The stages of "finish site" and "recruit employees" run in parallel (Çəki: 1)
overlap 
steps
protest 
contribute
simultaneous
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Sual: More recent expreience suggests that reduction of unemployment of 5.5 % of labor force is 
about as well as we can do. (Çəki: 1)

value
work force 
payroll
total 
market

Sual: Economic rivalry is another essential feature of free enterprise economy . (Çəki: 1)
competition
enterprise
market
stage
pocket 

Sual: Manufactures buy and sell to market their goods . (Çəki: 1)
merchandise
computers 
services 
cost
profit

Sual: Payphone operates with coins or a phone cards . (Çəki: 1)
webcam
helpline
credits
public phone 
capital

Sual: You can carry a mobile phone with you and use anywhere. (Çəki: 1)
landline
voice message 
cellphone 
phone 
move 

Sual: Employment (Çəki: 1)
işçi heyyəti 
işçi qüvvəsi 



məşğulluq
məqsəd
nailiyyət

Sual: Target (Çəki: 1)
işçi heyyəti 
işçi qüvvəsi 
məşğulluq
nailiyyət
məqsəd

Sual: Labour force (Çəki: 1)
işsizlik
işçi qüvvəsi 
məşğulluq
nailiyyət
məqsəd

Sual: Attainment (Çəki: 1)
işçi heyyəti 
işçi qüvvəsi 
məşğulluq
nailiyyət
məqsəd

Sual: behavior (Çəki: 1)
davranış
fərq
qanəedici
əhəmiyyət 
çox geniş 

Sual: extensively (Çəki: 1)
davranış
fərq
qanəedici
əhəmiyyət
çox geniş 

Sual: distinction (Çəki: 1)
davranış
fərq
qanəedici
əhəmiyyət
çox geniş 

Sual: satisfaction (Çəki: 1)
davranış
fərq



qanəedici
əhəmiyyət
çox geniş 

Sual: utility (Çəki: 1)
davranış
fərq
qanəedici
əhəmiyyət 
çox geniş 

Sual: to impose (Çəki: 1)
fikrini qəbul etdirmək 
mübahisə etmək 
fikrini dəyişmək 
qadağan etmək
əldə etmək

Sual: _____ the 1960s it was believed that unemployment could be reduced to 4 percent of the labor 
force without causing inflation. (Çəki: 1)

During
At
 For
 Of
 to

Sual: More recent experience suggests that reduction ___ unemployment to 5.5 percent ___ the 
labor force is about as well as we can do. (Çəki: 1)

Of ,of
 For ,at
 From, of
 In, for
 During, for

Sual: Experience teaches that it would not be possible to eliminate inflation entirely ____inducing a 
major recession combined ___ high unemployment. (Çəki: 1)

Without, with
 Against, before
 With, before
 Without, against
 With, without

Sual: Experiences teach that it won’t be possible to eliminate inflation entirely of inducing a major 
recession combined of high unemployment. (Çəki: 1)

Price increase
 Slow down
 Conduct
 Receive
 Unite



Sual: The macroeconomist’s concerns are with such global questions as total production, total 
employment, the rate of change of overall prices. (Çəki: 1)

Universal
 small
 Conservative
 little
 Impossible

Sual: An important task of macroeconomics is to develop ways of aggregating the values of the 
economic activities of individuals and firms into meaningful totals. (Çəki: 1)

 Significant
 Protective
 Safe
 Vicious
 Shiny

Sual: to obtain (Çəki: 1)
fikrini qəbul etdirmək 
mübahisə etmək 
fikrini dəyişmək 
qadağan etmək
əldə etmək

Sual: to argue (Çəki: 1)
fikrini qəbul etdirmə 
mübahisə etmək 
fikrini dəyişmək 
qadağan etmək
əldə etmək

Sual: to conceive (Çəki: 1)
fikrini qəbul etdirmək 
mübahisə etmək 
fikrini dəyişmək 
qadağan etmək
əldə etmək

Sual: to forbid (Çəki: 1)
fikrini qəbul etdirmək 
mübahisə etmək 
fikrini dəyişmək 
qadağan etmək
əldə etmək

Sual: to determined (Çəki: 1)
təyin etmək 
inkişaf etdirmək 
fikrini dəyişmək 
mövcud olmaq



həyata keçirmək

Sual: to carry out (Çəki: 1)
təyin etmək 
inkişaf etdirmək 
fikrini dəyişmək 
mövcud olmaq
həyata keçirmək

Sual: to develop (Çəki: 1)
təyin etmək 
inkişaf etdirmək 
fikrini dəyişmək 
mövcud olmaq
həyata keçirmək

Sual: to devise (Çəki: 1)
təyin etmək 
inkişaf etdirmək 
fikrini dəyişmək 
həyata keçirmək
mövcud olmaq 

Sual: to exist (Çəki: 1)
təyin etmək 
inkişaf etdirmək 
fikrini dəyişmək 
mövcud olmaq
həyata keçirmək

Sual: producer (Çəki: 1)
istehsalçı
istehlakçı 
işçi 
oxşar 
tanış
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Sual: An important task of macroeconomics is to develop ways of aggregating the values of the 
economic activities of individuals and firms into meaningful totals. (Çəki: 1)



necessary
Keys
Possipility
 Large
A domestic

Sual: Similarly, an overambitious employment target would produce labor shortages and wage 
inflation (Çəki: 1)

Salary
Goods
Product
Productivity
Totals

Sual: To this end such concepts as gross________ product, national income, personal income, and 
personal disposable income have been developed. (Çəki: 1)

Domestic
 Fresh
National
Employment
Value

Sual: Macroeconomic theory forecasts _____ economic activity. (Çəki: 1)
Future
Past
Induce
 Maintenance
Reduction

Sual: _____ means economics in the large. (Çəki: 1)
macroeconomics 
microeconomics 
 marketing 
economy 
business

Sual: In _____ you shouldn’t sit down in a café until you’ve shaken hands with everyone you know. 
(Çəki: 1)

France
Germany
Italy
Spain
Great Britain

Sual: Optimization plays a _____ role in microeconomics. (Çəki: 1)
Key
Unnecessary
Famously
 Largely
Impossible



Sual: _ one time there was a sharp distinction _ both methodology and subject matter 
__microeconomics and macroeconomics. (Çəki: 1)

At, in, between
In, at, between
Between, at, in
In, Between, in
At, between, since

Sual: Opportunity cost is an important concept __ microeconomics. (Çəki: 1)
In
Since
At
On
Between

Sual: Advertising may also serve to reduce competition and to reach a degree … monopoly power, 
(Çəki: 1)

of
-
off
in
on

Sual: _______ is often short and fallible. (Çəki: 1)
Human memory
 Repetition
Information
Advertising
Persuasion

Sual: Advertising may also serve to reduce competition and to reach a degree of monopoly 
_________. (Çəki: 1)

power
impact
 result
behavior
way

Sual: Informative advertising announces a product and gives potential buyers the details they need. 
(Çəki: 1)

customers
producers
 manufacturer
 director
 retailers

Sual: Advertisements that try to persuade consumers that there is no substitute for their product are 
attempting to create a sub-market (Çəki: 1)



buyers
purchaser
producer
retailer
customer

Sual: Advertising may also serve to reduce competition and to reach a degree of monopoly power 
(Çəki: 1)

to get to
moved
 got to
 influenced
spreads

Sual: Adam smith argued that laissez faire ‘’could’’ and ‘’should’’ replace government direction and 
regulation …. economics. (Çəki: 1)

at
of
in
on
for

Sual: The impact …. Smith’s ideas upon his contemporaries was wide –spread and immediate. 
(Çəki: 1)

of
between
for 
 over
with

Sual: familiar (Çəki: 1)
istehsalçı
istehlakçı
işçi 
oxşar
tanış

Sual: similar (Çəki: 1)
istehsalçı
istehlakçı 
işçi 
oxşar
tanış

Sual: consumer (Çəki: 1)
istehsalçı 
istehlakçı 
işçi 
oxşar
tanış



Sual: employer (Çəki: 1)
istehsalçı
istehlakçı
işçi 
oxşar
tanış

Sual: to unite (Çəki: 1)
birləşmək 
məşğulluq 
səhm
rəqabət 
hüquqi

Sual: legal (Çəki: 1)
birləşmək
məşğulluq 
səhm 
rəqabət
hüquqi

Sual: rivalry (Çəki: 1)
birləşmək 
məşğulluq 
səhm 
rəqabət 
hüquqi

Sual: share (Çəki: 1)
birləşmək
məşğullu
səhm
rəqabət 
hüquqi

Sual: trade (Çəki: 1)
birləşmə 
məşğulluq
səhm
rəqabət 
hüquqi

Sual: distribution (Çəki: 1)
bölgü 
məşğulluq 
səhm 
rəqabət
hüquqi



Sual: Smith lived in …. age when …. Right of rulers to impose arbitrary and oppressive restrictions 
on the political and economic liberties of their subjects was coming under strong attack throughout 
the civilized world. (Çəki: 1)

-,the
the,the
-,the
an,the
an,a

Sual: Smith opened to …. existence of …. ‘’grand design’’ in economic affairs. (Çəki: 1)
a,a
the,a
a,the
the,the
-,the

Sual: How many essential features does the framework of a market or capitalist system contains? 
(Çəki: 1)

five 
six 
seven 
four 
two

BÖLMƏ: 0503
Ad 0503

Suallardan 29

Maksimal faiz 29

Sualları qarışdırmaq

Suallar təqdim etmək 3 %

Sual: The framework of a market or capitalist ____ contains six essential features (Çəki: 1)
society 
system 
policy 
strategy
status

Sual: We shall use all these terms to stand ____ a market economy. (Çəki: 1)
with
to 
 in 
at 
for

Sual: We can approach the more realistic situation step ____ step. (Çəki: 1)



 to 
on 
 at 
by 
in

Sual: Man-made aids to production such as machines, factories, docks, oil refineries and road 
networks are known as ____. (Çəki: 1)

liabilities 
capital 
contribution 
investment 
mortgage

Sual: Workers will tend to move to those occupations and locations which offer the highest ______. 
(Çəki: 1)

salaries
wages 
fees 
money 
budget

Sual: Competition, as economists see it, is essentially _____ competition. (Çəki: 1)
price 
product 
knowledge 
service 
technology

Sual: What is an elaborate system of communication, in which innumerable free choices are 
aggregated and balanced against each other? (Çəki: 1)

banking system 
market system 
economic system 
political system
price system

Sual: A society may attempt to deal with the basic economic problems by allowing free play to what 
are known as ____________. (Çəki: 1)

market forces 
market economy 
market price 
market share 
marketing

Sual: Choose the correct translation Firmanın gələcəkdə müvəffəqiyyət qazanması üçün 
istehlakçıların ayrı-ayrı mallara və xidmət növlərinə olan ehtiyaclarını öyrənməlidir. (Çəki: 1)

The firm must study the needs of consumers for different goods and services to do well in future 
G. First he must investigate the needs of consumers for various goods services to make 

success.



H. The firm first investigates the needs of consumers then does well.
I. The company before being success must study the consumers needs and services.
J. The firm must investigate the consumers want for seperate goods for success

Sual: Choose the correct translation İyirminci illərin əvvəllərinə qədər biznesmenlər əmtəə 
istehsalına xüsusi diqqət yetirirdilər. (Çəki: 1)

Business produced mainly goods untill the twenties. 
Untill the early twenties century businessmen were directed mainly toward the production of 

goods.
Untill the twentieth the businessmen paid attention to goods. 
Untill the twentyth the business were directed toward the production of goods.
Untill the first half twentieth businessmen mainly consumed goods.

Sual: Choose the correct translation Istehsalçılar nə istehsal edirdilərsə onu da satırdılar. (Çəki: 1)
Producers sold everything.
Manufactures produced everything they sold.
Producers could sell what they ordered.
Manufacturers sold everything they produced.
Manufacturers could almost sold everything they produced.

Sual: Choose the correct translation Marketinq əmtəə istehsalı və malların paylanması ilə 
məhdudlaşırdı. (Çəki: 1)

Marketing was limited with distribution of goods.
Marketing was limited with production of goods.
Marketing was limited with production disttribution. 
Marketing was limited to producing and distributing finished goods.
Marketing was limited to everything they produced.

Sual: Choose the correct translation İyirminçi illərdə istehsal tələblə ayaqlaşmağa başladı. (Çəki: 1)
In 1920 manufacture begun to up with demand.
In the 1920s production began to catch up with demand. 
In the 1920s production begun catch up with demand.
In 1920s production got behind demand.
in the 1920s production went up with needs.

Sual: Choose the correct translation Firmalar ançaq istehlakcıya lazım olan malları istehsal etməyə 
başladı (Çəki: 1)

Firms begin to produce merchandise
Firms began producing only consumer goods
Firms began to produce necessary consumer goods
Companies decided to manufacture consumer goods.
Firms began to produce only the goods required by consumers.

Sual: Our products are _____ than our main competitor’s. (Çəki: 1)
cheap 
cheaper
cheapest 
not cheaper
not so



Sual: I deal ______ customers every day. (Çəki: 1)
for 
in 
with 
at
about

Sual: Choose the synonym to the underlined words. The distribution of things involves giving or 
delivering them to a number of people or places. (Çəki: 1)

allocation
education
degree
level
information

Sual: Choose the synonym to the underlined words. Competition makes producers of scarce 
resources utilize them economically. (Çəki: 1)

make 
use 
refuse
regret
ban

Sual: Choose the synonym to the underlined words. There are many important financial institutions 
which provide finance for comanies. (Çəki: 1)

develop
become 
supply
demand
increasing 

Sual: Choose the synonym to the underlined words. He gave me a loan until next month. (Çəki: 1)
goal 
skill 
credit
finance 
money 

Sual: Choose the synonym to the underlined words. John enjoyed his new job even though the 
remuneration was not as much as he used to. (Çəki: 1)

fringe 
salary 
compensation
money
shares 

Sual: Subscriptions in the World Bank turn, based ____ a formula that takes into account the value 
of each, nation’s foreign trade. (Çəki: 1)

about



by 
into 
over
on

Sual: Choose the correct synonym The Board of the Governors of the Bank annual in September. 
(Çəki: 1)

decadal
medieval 
yearly
quarter
monthly

Sual: Before recommending a Bank loan, the staff of the bank must be satisfied that the productivity 
of the borrowing country will be increased. (Çəki: 1)

lended 
decreased
included 
blocked 
signed 

Sual: The executive directors of the World Bank hire a president, who in turn, hires a staff. (Çəki: 1)
fires 
joins
determines 
employs
appoints

Sual: The executive directors of the World Bank hire a president, who in turn, hires a staff. (Çəki: 1)
fires 
 joins
determines 
employs
appoints

Sual: Poland and Czechoslovakia withdrew the W.B when the cold war began and a loan to Poland 
was blocked by the USA. (Çəki: 1)

hired
frozen 
increased 
decreased 
eased

Sual: What 5 countries are the largest subscribers of the World Bank? (Çəki: 1)
US, Japan, Germany, the U.K., France 
Poland, China, Germany, France, Spain 
The Ukraine, Russia, China, India, U.S
Azerbaijan, Georgia, Spain, Italy, Greece
Malaysia, Sweden, Russia, Italy, Poland



Sual: World bank in Azerbaijan Choose the correct preposition Azerbaijan Republic became a 
member _____ the World Bank ___ September 1992. (Çəki: 1)

at, of
of, in
-, o 
on, at 
-, at 
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Sual: Choose the synonym to the underlined word. It is also the usual channel for perishable 
products, such as fruits, vegetables,etc. (Çəki: 1)

consumer durables 
goods
fast moving consumer goods 
creditor 
consumer

Sual: Choose the synonym to the underlined word. Could you put me through to the manager? 
(Çəki: 1)

hald on 
 connect 
listen 
investor 
charisma

Sual: Choose the synonym to the underlined word. Some languages have many forms of address 
that you use to indicate how familiaryou are with someone. (Çəki: 1)

acquainted
unfamiliar
believe
values
user

Sual: Choose the synonym to the underlined word. The times or dates when things in a plan should 
happen are its schedule. (Çəki: 1)

A.project 
overlap
timetable 
visionary
distand



Sual: Choose the synonym to the underlined word. The next stage was fitting out the supermarket 
but there was a series of strikes by the electricians. (Çəki: 1)

parallel
delay
phase 
managers 
supplier 

Sual: Choose the synonym to the underlined word. Nowadays managers are more accessible easy 
to talk to. (Çəki: 1)

approachable
distant
visionary
rules
remote

Sual: Choose the synonym to the underlined word. Before leaders were distant-not easy to 
communicate with. (Çəki: 1)

approachable
decision-making 
remote 
rules 
machines

Sual: Choose the synonym to the underlined word. Avoid any kind of interruptions which stop you 
doing what you had planned. (Çəki: 1)

distraction
diary
time tips 
leaders
subordinates

Sual: Choose the synonym to the underlined word. It took 2 months instead of 3,but we were still 
behind schedule. (Çəki: 1)

timetable 
on schedule 
ahead of schedule 
time tips 
footprint

Sual: Macroeconomistts explein how the magnitudes of principal macroeconomc ________ are 
determined. (Çəki: 1)

changes 
aggregates 
variables
salary
stimulating



Sual: An overambitions employment target would produce labor shortage and ________ inflation. 
(Çəki: 1)

pay 
salary 
wage 
changes 
 timescale

Sual: Many countires do research to _______ ways of reducing air and water pollution. (Çəki: 1)
develop 
protest 
steps 
overlap 
pay

Sual: MAcroeconomist is interested in the price level and its change over time . (Çəki: 1)
general 
total 
individual 
payroll
value 

Sual: MAcroeconomist is interested in the price level and its change over time . (Çəki: 1)
general 
total 
individual 
relative
payroll

Sual: A piece of planned work which is finished over a period of time and intended to achive a 
particular aim. (Çəki: 1)

webcam 
public telephone 
 helpline 
project
 cost

Sual: The second stage starts before the firs finishes. (Çəki: 1)
simultaneous 
run parallet 
landline
overlap
goods

Sual: What is the meaning of the word “indicator”? (Çəki: 1)
friction
 goods
deduction
index
deduce



Sual: What is the meaning of the word “fault”? (Çəki: 1)
truth
right
wrong
mistake
problem

Sual: What is the meaning of the word “link”? (Çəki: 1)
divide
perform
connect
relate
part

Sual: What is the meaning of the meaning of the word ‘evaulation’? (Çəki: 1)
appreciate
valuation
depretiation
amortization
increase

Sual: What is the meaning of the word “major’? (Çəki: 1)
basin
basic
basis
important
batch

Sual: what is the meaning of the word ‘demonstrate’? (Çəki: 1)
play
change
trade
show
reflect

Sual: Give the synonym of the word “ask” (Çəki: 1)
suffer
supply
demand
request
requirement
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Sual: Give the antonym of the word “internal” (Çəki: 1)
exportal
importal
external
minimal
maximum

Sual: What can you say about finance and financial system? (Çəki: 1)
Finance is a provision of money and financial system is a network of institutions. 
It is financial intermediaries.
They have four functions: a)the provision of essential services, b)the encouragement or control 

of sectors of money, c)the implementation of social policy and d) the encouragement of the growth 
of economy.

It consist of budget. 
Its budget is an estimate of national revenue and expenditure for the ensuing fiscal year. (a)

Sual: If the goods are offered on ... the price will include the cost of the goods and transportation 
expences to the railway station only. (Çəki: 1)

CIF terms
C&F terms
FOB terms
FOR terms
AB terms

Sual: 284. In the case of ... the goods are shipped on board ships or planes. (Çəki: 1)
CIF terms
C&F terms
FOB terms
FOR terms
AB terms

Sual: In the case of ... the goods are transported by railway. (Çəki: 1)
CIF terms
C&F terms
FOB terms
FOR terms
AB terms

Sual: Azerbaijan Republic became a member _____ the World Bank ___ September 1992. (Çəki: 1)
at, of 
of, in 
-, o 
on, at 
-, at 

Sual: It is important to have a good line ____ credit. (Çəki: 1)



 from 
of 
in 
on
at

Sual: A bank also issues letters___ credit. (Çəki: 1)
about 
from
for
of 
at

Sual: Azerbaijan Republic became a member _____ the International Development Association in 
March 1995. (Çəki: 1)

from
at
of 
for 
about

Sual: More than 2000 teachers have received some form in _____. (Çəki: 1)
training
school
support
distribution
project

Sual: When did countries with low-productivity, low-income and low saving rates begin to borrow 
large sums of money from Western banks? (Çəki: 1)

1863
 1960
1973
1970
1860

Sual: Complete the sentence. In the United Kingdom there is no single code of tax law, the body of 
_____ being increased by each year s Finance Act. (Çəki: 1)

dividend
assessment
submit
tax legislation
non-compliance

Sual: Complete the sentence. The Azerbaijan government tries to create a climate in which business 
can ___ , to keep the tax burden as low as possible. (Çəki: 1)

 attempt
thrive
burden
climate



financial organ

Sual: Brick-and-mortar (Çəki: 1)
Click-and-mortar
Shopping cart 
Last mile problem
hits
Brick-and-mortar

Sual: Choose the correct synonym of the underlined word When you have finished, remember to log 
off for security reason. (Çəki: 1)

Access 
Enter
 Turn off
Registration
Take off

Sual: Find the correct meaning of the word : commercial paper (Çəki: 1)
The variable costs in making particular goods
Selling price minus direct production costs
Short-term lending to business
Long-term borrowing to business
Short-term borrowing to business

Sual: Choose the correct variant. I started 15 years ago with … of $ a 50000. My … were members 
of my family: my parents, brothers and sisters all put up money. (Çəki: 1)

Dividends, shareholders
Equity, borrowers
Dividends, interests 
Capital, shareholders
Capital, borrowers

Sual: Complete the sentence using the correct word: The railway company made “0” profit of 140 
billion yen, even after paying out 300 billion yen in debt … (Çəki: 1)

Bailout
Collapse
Delivery 
Repayment
Turning

Sual: Give the meaning of the word “expence” (Çəki: 1)
profit
benefit
tip
expenditure
income

Sual: What is the meaning of the word “gang”? (Çəki: 1)
a group



a piece
a little
a few
a bit

Sual: What means “HR”? (Çəki: 1)
human resources
hair cut
human rythm
heroic act
hierarchy

Sual: Give the antonym of the word (include) (Çəki: 1)
add
conclude
exclude
divide
pollute

Sual: Give the antonym of the word “minority” (Çəki: 1)
a lot of
a plenty of
a little
majority
advantage


